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Cisco Security Architecture for Account Managers (700-760) Exam is a 90-minute exam that consists of 55-65 questions. 700-760
exam is administered by Pearson VUE, and it can be taken at any Pearson VUE testing center around the world. Candidates can
prepare for the exam by taking the Cisco Security Architecture for Account Managers course, which is available through Cisco's
authorized training partners. Additionally, there are numerous study materials available online, including practice exams, study
guides, and other resources that can help candidates prepare for the exam.

Cisco Security Architecture for Account Managers (700-760) exam is designed for individuals who are interested in enhancing their
knowledge and skillsin cybersecurity technologies and solutions. 700-760 exam isideal for account managers who work with Cisco
security technologies and want to showcase their expertise in designing and selling security solutionsto their clients. 700-760 exam
is part of the Cisco Certification program and passing 700-760 exam will demonstrate your knowledge and expertisein
cybersecurity architecture and solutions.

| Pagel/5 |


https://certify.vceprep.com/?p=1561
https://certify.vceprep.com/?p=1561

This page was exported from - Latest Exam Prep
Export date: Sun Jan 5 20:16:32 2025 / +0000 GMT

NO.52 Which two elements does Tetration provide for security posture and traffic analysis? (Choose two.)
* Device updates

* App process information

* App access control

* App dependency map

* Hardware packages

NO.53 Which two benefits of streamlined management does Cisco provide? (Choose two.)
* Unified management across multiple services

* Siloed systems

* Consolidated security monitoring

* Centralized management

* Device access control

NO.54 What are two ways Cisco helps customers navigate compliance issues? (Choose two.)
* Providing identity verification

* Securing email communications

* Ensuring all employees have accessto all files

* Removing reporting requirements

* Removing bureaucratic security tags

NO.55 Which three factors should a customer consider when choosing the ideal security solution provider? (Choose three.)
* Creates new market opportunities

* Delivers excellent partner and customer support

* Generates higher margins on each sale

* Provides solutions at the lowest cost

* Offers more than just niche products

* |s committed to security

NO.56 What does remote access use to verify identity?
* MFA

* Remote Access VPN

* Agents

* AMP for Endpoints

NO.57 Which three options does Cisco provide to customers for complete protection against current security threst? (Choose three)
* Threst-centric defense

* Sporadic application analysis

* Accelerated threat identification

* Enhanced remediation

* Accelerated threat identification

* Manual security intelligence updates

NO.58 Which are two reasons perimeter-based network security is no longer sufficient? (Choose two )
* more vulnerabilities

* moreIT professionals

* more networks

* more devices

* more users
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NO.59 Which two attack vectors are protected by Visibility and Enforcement? (Choose two.)
* Mobile

* Cloud

* Emall

* Web

* Endpoints

NO.60 Which two attack vectors are protected by Cyber Threat Defense and network anal ytics (Choose two)
* Cloud apps

* Campus and branch

* Emall

* Web

* Voicemail

NO.61 Which option describes how partners can help customers using their unique relationship with Cisco aswad-winning resources
and support?

* Bethefirst to receive new innovations

* Take advantage of incentives programs

*Access 24-hour support around the word

* Earn higher margins on each dea sold

NO.62 What are two common customer obstacles? (Choose two.)
* Lack of solution integration

* High turnover of IT professionals

* Compliance regulations

* Limited resources

* Security system blackouts

NO.63 What are two steps customers can take to evolve to a trust-centric security philosophy? (Choose two.)
* Limit internal access to networks.

* Require and install agents on mobile devices.

* Always verify and never trust everything inside and outside the perimeter.

* Block BYOD devices.

* Only grant access to authorized users and devices.

NO.64 Which customer use case is challenged by device incompatibility, OS diversity, and a multitude of third-party application?
* Compliance issue

* Growing business

* Vulnerable cloud

* Small budget

* Limited mobility

NO.65 What are two ways that Cisco helps customers balance protection and accessibility? (Choose two )
* | everage integrated tools and dynamic context to enforce policies

* Reinforce device infrastructure with an extensive security portfolio

* Provide vital training to ensure a skilled workforce.

* Analyze user and device vulnerability.

* Manage risk more effectively across the environment.

NO.66 Which two attack vectors are protected by email security? (Choose two)
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* endpoints

* virtual machines
* emall

* mobile

* cloud apps

* voicemail

NO.67 What are two steps customers can take to evolve to a trust-centric security philosophy? (Choose two.)
* Limit internal access to networks.

* Require and install agents on mobile devices.

* Always verify and never trust everything inside and outside the perimeter.

* Block BYOD devices.

* Only grant access to authorized users and devices.

NO.68 Which two attack vectors are protected by Web Security? (Choose two.)
* Emall

* Voicemail

* Cloud

* Web

* Data Center

NO.69 Which two options drive successful business outcomes for customers? (Choose two)
* Endpoint visibility

* Enhanced visibility

* Comprehensive threat protection

* Hardend solutions

* Firewall protection

NO.70 Which ISR appliance do you use if your customer is a small business that requires integrated switching and routing and
WAN redundancy?

* FirePower 8000 secirs

* Cisco 4000 Series ISR

* Cisco 800 Series ISR

* FirePower 7000 Series

* FirePower 2100 Series

NO.71 Which two attack vectors are protected by Email Security? (Choose two.)
* Voicemail

* Mobile

* Email

* Web

* Cloud

NO.72 Which two attack vectors are protected by Visibility and Enforcement? (Choose two.)
* Mobile

* Cloud

* Emall

* Web

* Endpoints
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NO.73 What are two key Cisco |oT use cases? (Choose two.)
* Mobile Utilities

* Financial Institutions

* Parks and Recreation

* Industrial Security

* Connected Health

NO.74 Which two areas require secure access? (Choose two.)
* Workflow
* Workspace
* Workforce
* Worktable
* Workloads

NO.75 Which two attack vectors are protected by NGFW? (Choose two.)
* Web

* Cloud

* Mobile

* Data Center

* Emall

NO.76 Which network security product provides a unified image on an intuitive interface?
* Next-Generation Intrusion Prevention System

* Advanced Maware Protection

* Cloudlock

* Firepower Threat Defense
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